Directorate of Admissions & Competitive Examinations



University of Kashmir

NAAC Accredited Grade A++ University
Srinagar - 190 006, Kashmir, J&K

Dr. Fayaz AhmadProfessor Zoology & Director DACE

Main University Campus
Hazratbal, Srinagar

Selection Notification No.: 13-PG of 2025

PG, LL.B, M Sc Biotechnology (Non-GAT-B) and B.Tech (Lateral Entry) Programmes Under Self-finance Quota (Session 2025)

- I) The Candidates, whose particulars are mentioned in the selection lists appended to this notification, have been provisionally selected for admission to **PG, LLB, M Sc Biotechnology (Non-GAT-B) and B.Tech (Lateral Entry) Programmes** under **Self-finance quota** offered by this University purely on the basis of Entrance Test score, CMAT Score and/or Qualifying Merit and Campus/College Preference as per admission policy.
- II) Provisionally selected candidates are required to download their "Admission Form" from the official website of the University under "Admissions" tab on the home page and click on "Submit Admission Form for 1st Semester" from 27th August 2025 by entering Roll Number or Form Number and DOB.
- III) The provisionally selected candidates shall complete the admission form and visit the concerned Department for completing the admission formalities by or before Friday, 29th August, 2025 (3:00 p.m.).

Important Note:

The Heads/Directors/Coordinators/Principals, of all the concerned Departments/Institutes/Centres/Campuses/affiliated Colleges, who are the Chairpersons of Departmental Admission Committee, shall ensure that all the provisionally selected candidates possess the minimum required eligibility. The same may be verified with reference to the original documents/certificates of the candidate. The admission form of only eligible candidates should be accepted online and provisionally selected candidates allowed depositing online fees.

The admission of the candidates is subject to:

- 1. Production of all relevant original documents [Marks Certificate/Transcript of qualifying examination, Character and Provisional certificates, Reserved Category Certificate, Migration Certificate (wherever applicable)].
 - **Note**: Since result has been recently declared and most of the candidates have to seek exit from their colleges, they may be allowed to submit NAD generated 'semester-wise marks cards' till they get the Official Transcript from the University.
- 2. Production of eligibility cum revival of registration/migration form, wherever applicable, alongwith prescribed fee;
- 3. Fulfilling of minimum required eligibility conditions to be verified by the concerned Department/Centre/Institute/Campus/College;

- 4. Clearance be sought from the Academic Section in respect of candidates having qualified examination from Universities/Institutions other than Universities/Institutions of Jammu, Kashmir and Ladakh;
- 5. Production of an affidavit sworn in before 1st Class Judicial Magistrate stating that:
- ✓ I am not on rolls of any Institution for any regular programme;
- ✓ All the submitted certificates/documents are genuine and authentic;
- ✓ I shall strictly adhere to the rules and regulations of the University of Kashmir *in toto*;
- I understand that in case of any misinformation or concealment of any information or indiscipline or misconduct, my admission to the programme shall be cancelled and I shall be subjected to legal action;
- ✓ I submit this affidavit under free will without any pressure, compulsion, fraud or coercion.
- 6. The provisionally selected candidates shall approach, alongwith the admission form and all the relevant certificates and documents (original and self-attested Xerox copies) to the concerned Department/Institute for verification of documents/ certificates and online acceptance of Admission form for depositing the prescribed Fee via online mode upto 29th August, 2025.
- 7. Any provisionally selected candidate failing to complete the admission formalities upto 29th August, 2025 (3:00 p.m.) shall forfeit his/her right to admission and the resultant vacancy (ies), if any, shall be filled up from among the waiting list. A candidate, who forfeits admission, shall not be given another chance till candidates are available in the merit list.
- 8. The Heads/Directors/Principals are hereby informed to kindly forward the vacancy list (if any) on 29th August 2025 upto 04:00 p.m., so that waiting list is operated.
- 9. Please note that all the Notifications shall be made available only on the Official website of the University and notices shall not be published in print media nor shall any candidate be informed individually.
- 10. Notices uploaded on the official website of the University shall be deemed to have been served to the candidates.
- 11. For fee details please click on the link below:

https://www.kashmiruniversity.net/Download/Course%20Fee 2025.pdf

Sr	Form No./Roll No.	Name	MM	MO	%age			
Masters in Arabic (Main Campus)								
1	25108890	NABEELA SHABIR	10	7.58	75.8			
Masters in Archaeology (Main Campus)								
1	25108963	RASHIDUL ISLAM BHAT	10	6.95	69.50			
2	25108977	BISMA BASHIR	2800	1940	69.29			
3	25108979	SHABIR AHMAD LONE	2800	1818	64.93			
Masters in Education (Main Campus)								
1	25108940	INSHA NAZIR	1400	1034	73.857			
Masters in English (Main Campus)								
1	25108980	ARBINZA MIR	1000	772	77.20			
2	25108917	SEERAT QAYOOM	10	8.57	85.70			
3	25108883	SYEEDA HURMAT ZAINAB	10	7.91	79.10			
4	25108911	SYED NIDA ZEHRA	10	7.88	78.80			

5	25108900	AJFAN SHAKEEL	10	7.58	75.80
		ers in Gender Studies (Mair		l	
1	25108977	BISMA BASHIR	2800	1940	69.29
2	25108979	SHABIR AHMAD LONE	2800	1818	64.93
3	25108971	MIR IFLA AASHIQ	10	5.98	59.80
4	25108901	NAJMA TABASSUM	4450	2570	57.75
	M	lasters in History (Main Ca	mpus)		
1	25108902	SABREENA	10	7.74	77.40
2	25108969	NARGIS MOHIUDDIN	10	7.34	73.40
3	25108963	RASHIDUL ISLAM BHAT	10	6.95	69.50
	Maste	ers in Islamic Studies (Main	. Campus	(3)	
1	25108966	SADAF KOUSAR	10	8	80.00
2	25108946	MALIK MAHENAQISH	10	7.7	77.00
3	25108939	SAQIB BIN ASHRAF	1300	969	74.54
4	25108977	BISMA BASHIR	2800	1940	69.29
5	25108979	SHABIR AHMAD LONE	2800	1818	64.93
	Mas	ters in Mathematics (Main	Campus)	1	
1	25108945	MIR AMIR	100	53.5	53.50
	Ma	sters in Philosophy (Main C	Campus)		
1	25108901	NAJMA TABASSUM	4450	2570	57.75
	I	Masters in Urdu (Main Can	npus)		
1	25108940	INSHA NAZIR	1400	1034	73.86
2	25108869	AAMIR AHMA TELI	10	6.12	61.20
3	25108909	FARHAT MAJEED	10	6.07	60.70
	N	Masters in Urdu (South Car	npus)		
1	25108970	RUBEENA BASHIR	10	6.67	66.70
	Masters i	n Computer Application (N	Aain Can	ipus)	
1	25108858	ASSRAR AHMAD SHAH	10	7.86	78.60
2	25108910	INSHA MANZOOR	10	7.02	70.20
	Maste	ers in Library Science (Main	n Campu	<u>s)</u>	
1	25108898	TAROOB NESAR	10	7.82	78.20
2	25108967	TABISH AYOUB	10	6.86	68.60
	Masters	in Physical Education (Ma	ain Camp	ous)	
1	25108864	JAHANGIR IQBAL	3200	2987	93.34
2	25108859	SHABAN AHMEED	800	656	82.00
3	25103570	GOWSUL HUDA SHEIR JABBAR	10	7.58	75.80
	Mas	ters in Bioresources (Main	Campus)		
1	25108898	TAROOB NESAR	10	7.82	78.20
2	25108897	INGILA ASHRAF	10	7.73	77.30
	Ma	sters in Chemistry (Main C	Campus)		
1	25108878	SHAISTA MANZOOR	10	8.1	81.00
2	25108916	JUNAID AHMAD GANAIE	10	7.4	74.00
_	25108944	INSHA SADEEQ	10	6.46	64.60
3		Y I I OI OID	(Main C	1	>
3	Masters in E	Biotechnology (Non-GAT-B) (Main C	ampu	S)
1	Masters in B	SHAILA MUKHTAR) (Main C	ampu	34.50
) (Main C	ampu	T

4	888823	MUHAMMAD IBRAHIM ZARGAR			19.00		
5	888831	AFREEN TARIQ			17.25		
6	888817	FAIZA JAMIL			16.50		
Masters in Home Science (Food Science and Nutrition)							
1	25108973	SHAFIA FAROOQ	10	8.87	88.70		
Masters in Physics (Main Campus)							
1	25108965	SHARIQ NAZIR RESHI	10	6.54	65.40		
2	25108945	MIR AMIR	100	53.5	53.50		
B.Tech Lateral Entry (Civil Engineering) Zakura Campus							
1	25276017	MALIK INSHA BASHIR	4200	3170	75.48		
2	25276272	SHAJAT KAREEM	6300	3662	58.13		

Director, DACE

No.: F13 (Selection List-13/PG/Integ./Mgt.-SFS) DACE/KU/25 Dated: 26-08-2025